. Evaluate 2y-3x forx=-5and y=6.

a) —28 b) 27 C) =3 d) —46
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. Simphify: |-—-=-+.
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Simplify: 2x—|5—(x+4)].

a) 3x—9 b) x—9
i )
Divide: i+ —E )
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Multiply: —15(-2)(-8).

a) —240 b) =150

c) 3x—1

d) -1



Collect like terms: Sa+2—-9a+6.

a) —4a+12  b)l14a-4 ) —4a-4 d) 4a+8
Simplify: 4] 2(x—9)—(x+3)]|.

a) 4x—72  b)4x—-84 ) —4x+84 d) x-21
Simplify: (—Ef‘ ! )j .

a) -32x'°y”  b) 32x"y* ¢ —10x7y"  d) —2x"y"



Ql: Multiply

(X° =3X+2)(2x-1) = 2X> —6X° + 4X — X° + 3% — 2

=2 —TX+7X=2



Q2: Divide

2x-4 = x-2 _2x-4 (X +1)°

x+1  (x+1? x+1 X —2
- 2(x=2)(x+1)°
(x+1)(x—2)

=2(x+1)




Q3:Solve

(x—4)(x+3)=0

X =4
or

X =—3






Q5: Graph the line

y—2X+3=0



